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. .The pomts A(l 2) and B(7, 14) lie" on the curve whose equatlon isy= x - 6x+ 7. P isa pomt

on the curve such that the tangent at P is parallel to AB Find (i) the co-ordinates of P, (ii) the
equation of thé normal at P. The normal at P meets the curve again at Q. Find the
co- -ordinates of 0. (N82/P1/ 16)

The equatlon ofacurveisy = 4x + 3 L Find the equation of the tangent to the curve at the point
where x = 2. (N82/P2/1i1)

Given that the equation of a curve isxy = 12, find (i) the equation of the tangent to the curve

atx =2, (ii) the co-ordinates of the points on the curve at Wthh the tangent has gradlent—-
(J83/P2/3) : : :

‘Find-the equation of the tangent to the curve y =x2./8 -~ 2x at the point (2 8). (J84/P1/15a) -

The equation of a curve isy =x + 4 Find the equation of the tangent to the curve at the pOlnt‘.7'
(1, 5). (Sp1/10ii)

Find- the’ equation of the tangent to the curve y=x3-8x%+15x at the point (4, —4).
Calculate the co-ordinates of the point where the tangent meets the curve again. (J85/P1/3)

Find the equation of the normal to the curve y=x2—4x+5 at (3, 2). The normal meets the
curve again at Q. Find the co-ordinates of Q. (N85/P2/2)

- The normal to the curve y=2x3 —5x2 at the point (2, —4) crosses the x-axis at 4. Calculate

the co-ordinates of A. (J86/P1/1)

3+x

Find the equation of the tangent to the curve y = =

the line y = -1, (J86/P2/6b)

at the point where the curve crosses

4 and B are the points on.the curve y = 3x — & with x co-ordinates 2 and 4- tespectively. Find
the x co-ordinate of the point of intersection of the tangents at A and B. (N86/P1/11{)
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() 2y+x=2;(1%,4)
dy=15x+4 :
() y+3x=12

(i) (4,3),(4,-3)
y=6x—4

y+TIx=12

Ly +x=0;(0,0) ,

5 x+2-7=0; (5,4
2. (-14,0)

a Ty+1l=x
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